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Where do the nails grow from in our body ?

- ©

(¢) WEIBIH &% T F9 J& Fdter I (d)

(a) Muscle (b) Bone
(c) Skin _ (d) Cartilage
(a) MRS ) I3
() =HFT (d) oHsIFT
Which of the following game does not provide time-out during play ?
(a) Volleyball (b) Football
(¢) Handball (d) Basketball
st fifant 9" faodt aH U3 € 99% g mie yers &dt a9t
(a) THES ) TS
() IS (d) ITHRITH
"Aim of sports training is
Physical fitness (b) Technical skill
Tactical efficiency (d) All the above
uF fueret o @8 9
(a) RIS fezdn b) ST IS
(¢) TISNTS IAG (@) SwWez A
The size of the badminton court in doubles is
(a) 4ftx20ft ' (b) 40ftx20ft
(©) 44fixi8fi - ' (d) None of these
Safamit g ¥sfiles o & narg der 3 _
(a) HMfix20ft (b) 40ftx20ft
(© HMfxI8f (@ fogor f¥9 gt dt
How many time-out are allowed in a football match ?
(a) 2 ®) 3
(© 1 (d) None
geas 39 fdd odhv miGe 92 on
(@) 2 ®) 3
© 1 (d) o= &R
Principles of overloading is that _ '
(a) Load should be maximum (b) According to the capacity of athlete
¢) _Load should be more than optimal (d) According to the body weight
ooz 3 fa
(a) 39 niftasH J& Idter 3 (b) nESte T AHTE migAg Jer I

AAt9 319 € gAY Jer d

According to principle of specificity of load a cyclist should do

(a; wclght training (b)
( etri
= €F %(;111%33? 2 fAoiz vizrrg g
(a) 39 frausrst (b)
(¢) umTettefoa d)
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10.

11.

12.

13.

14,

Smashing in volleyball is also known as

(a) lifting (b) spiking
(c) servicing (d) blocking
THES &9 m?m feg & s+t ¥
() Toeféa (b AuEa
(c) FafefHa @ sl
Which of the following philosophies of physical education is known as Experimentation ?
(a) Existentialism (b) Realism
(c) Pragmatism (d) Eclecticism
Agtea it oF Jat fefomr feg’ faodt feomet yoiar so€€t 9
(@ »RfERTT - (b) RS IE

(¢ fegewe (d) BwafesTw
International Olympic Committee was formed in |
(a) 1894 (b)) 1896
(c) 776 B.C 7 (d) 1952
W3aTHeIt GBfl SRSt T 68 z“r%mr A
(a) 189413 - (b) 1896 f&w
(©) 776B.C | @ 19521
The fastest period of growth in human beings is
(a) Childhood (b) Adolescence
(c) Infancy (d) Puberty
Wit &g feam o g 3 %ﬁ % J
(a) TOUS (b) fAT nerEr
(c) TBUET : (@)
Tiger Woods is related
(a) billiards ‘ (b) polo
(¢) golf (d) chess
Zretae €3 Aduz 3
(a) fodmEs &% b U85S
(c) doe &S | d) A3
Lack of fitness can cause _
(a) loss of fluid (b) loss of weight
c) _ muscle cramps . (d) sleeplessness

| & it a9a J Aaer J | :
(a) T (b) F9weE
() HAUHMT T nig=m (d) rdted
1* Asian Games were held at
(a) New Delhi (b) Bangkok
(c) Lahore (d) Beijing
BHitnis g3t et RS
(a) a<tfedtfem (b) o= fey
(9 w9 fel - @ dffarfl
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15.

16.

17.

19.

20.

21,

2016 Olympic Games will be held at

(a) New York _ (b) Athens
(¢) Seoul : " (d) Rio de Janerio
2016 S&fux ozt Jaaiit |
(a) fo€uraa feiy | - (b) TEewfew
© fesfed @) foB st varfol forr
N.LS was established in ‘
(@ 1957 (b) 1961
(c) 1962 (d) 1964
NIS & Ague J&t /it -
(@ 1957139 ' b) 1961 &
(c) 192139 d) 1964w
All India Councﬂ of Sports was formed in
(a) 1954 ) 1953
(c) 1952 - ) 1951
s festor G fhe wie Filgen o dios Sfenr At
(a) 19541%‘3 o () 1953139
© 19528 - . (@ 1951 %
The body whlch controls participation of India in Olympic Games is
(@ S.Al o (b) LO.A
() LOC () AAFI
AR ot G@fug Bt fea g793 ©f fJredt § féuzfos ao<t 3:

(a S.Al (b). LO.A
(¢ LOC (d AAFI
In Russia terminology physical education is better known as
(a) Kinesiology _(b) Physical culture
(¢) Movement education (d) Physical training
gr 8 raeest Adtaa firferr 3 srfenr wirer 3

(a) fasfiElswit o) feilaw awog
(©) Yehe DigaEs | () feias S
Physical activity is basically a _
(a) Social attribute _ ~ (b) Psychological tendency

(3] Biological necessity (d) Philosophical concept
At Hai3g3 B
(8 A IE D ) Hafefmram yfeadt 3 _
(© i fefomres 33 3 (@ vHlsITITd
Which one of the following is no major domain of physical education ?
(a) Research (b) Instruction
R ()] Teachmg skill = ‘ (d) Inspection

- Bt fefanf 5 faomr mdtext fitfir o 1a avow U39 adt
(@ uw ) fsgom
(©) niftmis faissr d) fodtuz
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22.

23,

24,

25.

26.

27.

The earliest term used for management was

(a) administration - (b) organization

(c) coordination (d) direction

YAUS e /Y 3 ufosT ytial i3T /1E o HEE J

(a YRS | (b) FAISS

() fim=sss | (d) fomrfsoim

The factors affecting physical fitness are

(a) Anatomical factors - (b) Physioclogical factors
(c) Psychological factors - (d) All of the above
RIS niggus' § YS'<3 JI5 B 33 TG :

(a) AdSE 9233 I3 : (b} Fatea fafonr Redt 33
(c) Hafefomax 33 d) GusEs A

What of the following playing surfaces is easy to maintain ?

(a) Concrete (b) Natural

(c) Turfed (d) Synthetic

It fafant 135 faa3 us ﬂ@?; € Ao 98t MRS 3

(a) St - () FEeEh

() wIgTwH (@ fhgfex

The total work done in a training session is termed as

(a) Volume ‘ (b) Intensity

() Frequency (d) Density
et Ans g o= fapr s oM orger 9

(a) nirfezE () Y

(¢ Ftasz @) uwE=

Who is the first person whlch explains the sensory method in spons ?
(a) Jorden (b) Best

(¢) Smith (d) Zaciorskij)
%ﬁan@w%ﬁéﬁwﬁwmwmﬁwﬁma ?
(a) WISE | () 8&Re
(c) Afig (@) wiowarfan

| In order to make intramural programme really mter&stmg and worthwhlle, it would be apt to

(a) Induct new equipment

(b) Build permanent infrastructure

(c) Invent new fun/recreational games
(d) Infuse intense spirit in ‘the participants

.mmmmﬁﬁnﬁzwﬁammﬁﬁam@gm HETHE JRaT

(a) B AT §g 998

(b) FEE WU A9E © fsaHE

(c) it 37/ HEUTT=H B3' ©f U 95T

(@ a3z Tiemt 9 Hag g © AT J9a"
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28.

29.

30.

31

32.

li

* The spectrum of activity competition at the elementary level of education must be more

(a) formal (b) informal ;1
(¢) neither formal nor informal (d) organized '
fHftonr @ MdRedt dus ammgmwmam
(8) femTo= (b) I feegraw

() o fesosa n3 & 3t 39 fegoga (d) Fass

Which game initially was called “Mentonet” ?

(a Badminton ' (b) Basketball

(¢) Baseball (d) Bull-fighting
faast v g ggors g NS fagr A A

(a) ¥sfies (b) THIZ TH

(c) BRE® | (@) sTEeEe

Which of the follbwing activities may be difficult to teach in mass ?
(a) Gymnastics {b) Setdrills

(¢) Drill & marching (d) Yogaasana

It efanit R foxastt faxfanr & e 9 uer@a vhrr 3 e 3
(a) fomfes ) fimEes

(© 38 ni3 wafda (d) T mmE

Transition period aims at
(a) Stabilization of performance (b) Super compensation

(¢) Recovery : (d) Recreation
ufgeass as e iize 9

(a) YTIREa <t Afgglr (b) TYIFS
() yag yugt | (d) MBS

Acquisition of specialized sports skills lead the students to
(a) . Perform movements skillfully

(b) Become good players

(¢) Develop into specialists

(d) . Do things economically

fefame a5 fadast & yust fefonradt § mrg a2 @t 3 |

(a) Wﬂwwmmqmmﬁg
() T fuzdt gew fog

(©) Wigg @ 393 feafiz = fem

) 3 S fixen 57 a3 ¥y
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33.

4.

3s.

37.

38.

39.

The organ which produce insulin is -
(23 gall bladder (3) Liver

c ancreas (d) Pitui and

frast feshsts ﬁe* cocia i , hr e
@ fusr ®) frag
(c) uS et @ fowar a9t et
Amphiarthrosis is
(a) Freely movable joint (b) Slightly movable joint
50) Imrngvabl% joint "~ (d) Synovial joint
(a) H33T IHGHIS ¥ (b) &I fAr IHEHIS HE
(¢ fEtdsaz - @ fHoa
The hormone that control the growth of body is called
(a) Thyrotrophic hormone (b) Somatotrophic hormone
(¢) Gonadotrophic hormone (d) None of these
TIHs frasr fa AN ¢ feam & fouisfos a9er 9, qo8er
(@) wfedgfes ams ~ (b) FHEeR s
(¢) dEITfes TIHS - () feow i st &
The muscle involved in the flexion of hip known as
(a) Hamstring (b) Quadriceps
(¢) Gastrocnemious d% Trapezius
2 foemi & wie AR At At

@ Yodas (b) PASHRAUR
(¢) Imfarm (@ Usimn
The main abundant single constituent of muscle is
(a) Water (b) Protein
(c) _ Inorganicsalts (d) Carbohydrates
HAUH o fea@3T 53 frmer Higar T MY Hued
(@ ud ®) s
(¢) rErIEs EHA . (@) TETERe
The percentage of myosin found in the muscle is 50-55, percentage of actin is
(a) 30%-35% (b) 20%-25%
(c) 10%-15% (d) 15%-20%
WA fEE u® A wfeEfis & yFtes 3 50-55, niafes & ydtmsrd
(@) 30%-35% (b) 20%-25%
() 10%-15% : (d) 15%-20%

How many times, more energy is released during oxidation process, than released during
anaerobic glycolysis ? '

@ 15tmes . . (b) I8times
(¢) 21 times d) 12 tlmes
M9 s, nwafha o9 &5t a=t @aﬂT &% fad ar=
frmrer Qo &5t St 9
(a) 1532 ‘ (b) 183
© 21gET @ 129
| 7 Paper-11 (Physical Education)




40. The term “reinforcement” is roughly synonymous with the term

(2) mewa;g1 g;; Award

(c) Strengthening ain -

qES UGIEH Aaes” oY Ju T fer BaT © &% AHwTeE 3 :

(a) YIRAT ®) feoH

(c) =T @ 3
41, Where in the human body are the free O,, hydrogen & nitrogen found ?

(a) Liver & pancreas (b) Blood & intestine

(c) Lungs & trachea (d) _ Stomach & intestine

Hott A9 9 nrarfias, aeigns w3 seidns A3 ol ue 7 36

(a) TAoE nB Ue qET (b) Y& M2 nfeg

(c) <e3 w3 Ag & (d) Uz n3 nigg .
42. In which of the following part of the cardiovascular system is the velocity of blood is the lowest ?

(a) Arteries (b) Arterioles

_ % Capillaries (d) Vein
mwﬁwﬁéwﬁﬁwﬁvﬁﬁﬁﬁﬁam?%ﬁma

(a) Bg &I ®) THR :

() T QI FEt (d) A
43. Which of the following class of drugs is used medically to relive pain and anxlety ?

(a) Barbiturates - - (b) Opiates

(c) Cocaine (d) Hallucinogen

It fiffantt 35 sHieshat Tzt & faodt AFT @ ydiar ode 3 udmdt 5 wadt &t
TSt e 393 ger

(a) =adlgden () nifugen
(c) T , @ THHes
44. The syndesmosis are types of ,
(a) Slightly movable joints (b) Freely movable joints
¢}  Immovable joint © (d) Disjoints _
%nsﬁmrﬁw feast Short famit o5
(a) &3 0 Memw A3 (b) AZ3I IHEHIS AT
() TEdsHs (d) 22 Azt It
45. The major function of the ligament in the body is to
(a) Prevent joint dislocation (b) ~ Reduce friction in the joint
(c) Actaslevers ~ {(d) Coordination
Aate e fsamie o iy ram O '
(a) w2 femauz 3 somf (b) ﬁsﬁw’rﬁaéwa@a
(c) frEE < 39t an e d 3I=-7 Al
46. Tumning the foot so that the sole faces outward is movement called
(a) Eversion {b) Pronation
g_d Inversmn srg Supmatlon
Ug 3 fem 39t vz f‘ar 3% WIS T
(@) usm ®) ’F UF’
(© Esdtzsd (@) U EuwTaz
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47.

48.

49.

50.

51.

52.

53.

Much of the motor-skill leaming takes place dtiring
(a) Puberty (b) Infancy

(¢) Childhood (d) Adolescence
Heg-fedasr & fmmersa fraset fen S9vs &t 3
(a) 7= STE (b) TBUT TS
(c) HOUS ETS ' (d) AT viRAT €95
The Achilles tendon is the tapering part
(a) Gluteus maximus () - Gastrocnemious
(¢) Quadriceps (d) . Hamstring
HHUEM & widh &% 13 seiter fImr 3
(a) JBSH HAHMHA (b) JIncsfarm e
(©) SSHAUR T @ dedEme
Any relatively permanent chmge in behaviours resulting from experience is populady known as
{a) Acquisition (b) Leaming
{(¢) Conditioning (d) Response
niEgE 2 &30 I feeod ¥u 3uaa AUTE ufgeess vy 39 %wf&mrw%
(@ FoFFEs ' o) i
(€) rEEBI ' @ yfafafan
Which of the following has least to do with motivation system ?
(a) Need (b) Drive
(c) Habit (d) Motivate
a@%@wﬁaf‘aﬂ@@mwmmm%@%@%
(a) IS . (b) 3T
(c) ne3 d) Y3AIs .
A person’s perception of his/her own personality trait is reflected i inhis
(a) Self-esteem (b) Self-concept
(c) Self-efficiency (d) Self-regard
foe favat & @A nmu@ feniadise daar 513 nigsst seaer J 8Re
(@) AR-HG e () rr3y uIsT feT
() mR-GI3 & (d) i3 fows &8
Which of the following is not one of the big five personality features ?.
(a) Submissiveness - (b) Agreeableness
(c) Extraversion (d) Neuroticism
It fifamit 55 o U 33 fenmdise daet 9 fia & 9
(@) FHE ®) EFE
(c) foum uast ‘ (d) wETI
Which of the following is beyond the scope of discussion of health ?
(a) Hygiene (b) Disease
(¢) Deformity (d) Death
asrﬁﬁwﬁ%wmagéﬁ@a TR BT IT WY
(a) widar fefomis ®) fanst
() TFUFT @ *H3
9 Paper-II (Physical Education)




54. Health is primarily a responsibility of the

(a) Community (b) Individual
(c)  State (d) Parents
fras Hed 39 '3 fine<t 9 '
(a) AH¥ T (b) fonEst
(¢) TIu - (d) vz fugrd

§5. Which of the following are chemically known as lipids ?
(a) Fat (b) Sugar
(c) Candies : (d) Amino acids
Jot fefamt feg” fam 3 ﬁsﬁgﬁ T3 Ifaraery ¢
(a) Tt () Hzd
(c) THSht Fidhnrt ‘ (d) i nifirs

$6. Complete combustion of 1 gm of carbohydrates in the body yield
(a) 10.4k.cal _ (b) 6.8k.cal
(©) 4.2kcal (d) 7.6k.cal
AAIS 8 Q aH FETEIRE T YIs o5 Yo Fder I
(a) 10.4k.cal {(b) 6.8kcal
() 42kcal (d) 7.6kcal

57. Normally human being require carbohydrate, proteins and fats in the proportion of
@ 4:2:1 (b) 7:2:1
() 3:1:1 @d 4:1:1
Ao 39 3 ¥iEd § a9aaEilde, It 3 godt & fer npurs e 83§
(@ 4:2:1 ) 7:2:1
(€ 3:1:1 @ 4:1:1

$8. Name the type of protein in hemoglobin is
(a) Hormone (b) Transport
(c) Contractile (d) Structural
FIT g Yt ot famm e s &
(a) TIHG . (b)) e
() Fggs () <TEEs

59, An incentive essentially is a |

(a) Reward (b) Drive
(c) Punishment (d) Condition
YI& meRd U 513 3 : |
(@) YIRa9 (b) AIA
() T3 ' d) T3

60. The rate/speed at which physncal activity is performed is known as
(a) - Work load (b) Exercise volume
(¢) Load stimulus (d) Intensity
T3/t fam %Hélaaféﬁwvﬁwwélyrwﬁ Causeig i
(a) oIHII (b) TAII WaIT
(c) 33 8amae @ Eib:GEY
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61.

62.

65.

- 67.

Frequency of stimulus in loading is called

(a) Viscosity (b) Density
(c) Connectivity (d) Specificity
gret &9 Barae & Haasr aa8@T I |
(a) 6_5?3{1'8 , b)) wE3T
() A@d (@ mmeE
The distance covered in Marathon Race is-
(a) 40.250 km (b) 42.000 km
(¢) 42.195km (d) 43.200 km
MarathonRacef'@HEﬁ'E@'HUﬁﬁ ?
(a) 40250km (b) 42.000 km
(c) 42.195km (d) 43.200km
The spam of transitional period of sports training should be more than
(a) 1to3 weeks (b) 2to4 weeks
(c) 41to6weeks (d) 61to 8 weeks
us firumret @ vt o &t Saret for 3 Ju 9@ I T
(@ 1F37e3 (b) 234723
© 436323 d) 638323
Which of the following is not used as yard stick for the selection of a research problem ?
(a) Feasibility (b) Novelty
(¢)  Availability (d) Reasogablllty
o7 miffmr & 3z st Iid @ 39 '3 It fefont f395° famer yiar &dt Je
(a) FseEz | (b) =T
(c) Budguz | (d) SIAYIES
Individual differences among people exist in '
(a) Body and mind (b) - Skill and ability
(c) Thought and action (d) All personality variables
f&g feneas vise §- T8 |
(a) A3 w3 fovmar &9 M) fiss vz vazr fee
(c) FenBaH e ' @ w9 fenafsse o9t 9
In which sport do individual differences make least impact on learmng skills of that sport ?
(a) Archery (b) Soccer
(c) Hockey (d) Basketball
hﬂasﬁeﬁmasﬁasmgaﬁﬂasémfﬁa@‘%%@mmw@%aa ?
(a) Stanienit (b)) Fd
(c) Tt (d) A 2T
Which of the following reflects the idea that we like people who like us ?
(a) Similarity (b) Reciprocity of feelings
(¢) Proximi (d) Social exchange theory

It fofantt &9 ﬁaaﬁaﬁwaq%@am%ﬁmﬁ@mweaﬁwm%m%
TIRTE 7
(a) FHEST b) T E
(¢ foses (@) PR e fRuTs
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70.

.

72.

73.

74.

Mg

What kind of groups are generally more cohesive ?

(a) Large groups (b) Scattered groups
1(3')):’ Racial groups ' (d) Smaller groups

yarrd @ R o 33 '3 frmirer ffads Je 98
(1) VAT (b) fizd FD-IEI
() w3 (@) 2w
Personal preferences and tastes developed in childhood are often evaluated in
(a) Later childhood (b) Adulthood
(c) Older adolescence (d) Oldage
mﬁaﬁaﬁsaﬁwﬁ»@mmﬁwm@m?mmwé
(8) TOUB HIW - (b) T&SE &9
(c). nizuE o ggrs R (d) = e
What has attracted the economists towards sports these days ?
() The media (b) Growth of sports industry
(c) High stakes on athletes (d) Cut-throat competition .

NIFES WTERTASIT § 35T 9% foaHS »icers aitgr 3

(a) Au9AUS 3 (b) uF e 2 feam 3
() dFx'3I8gemd (d) T HIES &

The ICC and the National Cricket Boards are almost solely interested in
(a) taking the game beyond the geographical boundaries of common wealth countries.
(b) playing politics of economics.
(c) TV coverage and the money cricket brings in.
(d) e:ﬁp interests of the players foremost in mind.
et 7 T

IHH foe G498 o 3a9tes get J s
(@) B33 avsREE I T JeFuIR W=
(b) IETA3Y € TESIST UsE few

(¢) faae o feniR A Us wid 2Rt aeEw ¥

(d) fdnt 2 fost § formar ey uz Ry

Which of the following event is not stated in HEPTATHLON (for women) 7

(a) 100 m hurdle (b) High jump

(¢} Javelin throw (d) 100 m sprint

&t fefantt f&9° faaar €1 HEPTATHLON (493t &et) &9 Wage adt 3

(@) 100 m =T - (b) E&tsma

(¢) 37 He=r (d) 100N f&at €3

Everywhere and anytime the media is dictating

(a) what events to watch (b) how we watch them

(c) how we remember them (d) usto perform all these three
TG A M3 I9 AR Hishar 8% faor 9

(a) foos Rz 2@ 35 (b) G5t g nit fa? euzr O

(©) G dnmftf@aeduzd () foowt fiat e fogmi gas
According to rile, the temperature of water in the swimming pool shouid be around

@ 26°C: ®) 27°C

(©) 20°C (@ 29°C
ménmg‘aae@aﬁf?au@Umwm%m
(@ 26°C _ b)) 27°C

(c) 20°C ) 29°C

Paper-11 (Physical Education) 12




75.

76.

17

78.

79.

80.

81.

What is the number of hurdle jump in steeple chase ?

(a) 24 ® 26

© 28 | d 30

wifgar 83 o9 gt esfar < faedt flst @

(a) 24 . (b)) 26

(c) 28 (@ 30

Practice of and perfection in a motor or athletic skill is basically a function of
(a) trial and error process (b) insight process

© observation process (d) conditioning process

m#»m%&amwnr@w»@@nﬁama@aa‘%m%r'
(@) nrfeR nid 338 yfferr e (b) wizq fordt yfafan &

(c) =G yidfanr & @) igges ylafanr @

The area of performance for floor exercise in gymnastic should be

(a 10mx10m ® 12mx12m

() 13mx13m (@) l6mxl16m

Foamfza 29 MiE aRes @ Yans BEt 43985 I gt 9

(8 10mx10m () 12mx12m
(¢ Bmx13m , (d) 16mx16m

Which of the following elements is contained only in protein ?

(a) Carbon (b) Hydrogen

(¢) Nitrogen . (d) Oxygen

ﬁﬁﬁﬁnﬁﬁ%ﬁwa‘amqﬂsﬁamﬁ?%:

(a) TIES (b) TEES

(c) &EREHs (d) MSHTS

The key component of health-related fitness is |

(a) flexibility ' (b) muscular strength

(c) cardio-vascular endurance ‘ (d) body composition

fraz At negusT T REHa S |

(a) & () Ufonit & gt

© jﬁa%m"‘mr'rétﬂaraamaz"r (@) HIT JIST
Most personality test used in physical education are

(a) Mechanical test 7 . (b) Physical performance test
(c) Manipulative test (d) Inventories
fi¥g =93 A fimrersd fanieR U T5
(a) wfox U - (b) AR YEIHG U
(c) TIBYIG UM | (d) sHuE
Strength is the basis of all movements which involve
(a) bones (b) nerves
(c) joints (d) muscles
aa@a#wwmvmfa%ﬁwféamaﬁ
() dSnit | )
(9 #3I @ U |
13 Paper-1I (Physical Education)
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¥}

82.

85.

87.

Which of the following conditions are life-threatening ?

(a) Heat radiation (b)  Heat exhaustion
(¢) Heatstroke ~ (d) Heatloss
J&t féfantt 48 fao3 o3 Hes-wrsz Us:
(@ 3V feaws (b) 3y dtEgr
(© 33U et (d) sSUD
Men in motion is the focus of attention only in
(a) Kinesiology (b) Bio-mechanics
(¢) = Physical education (d) Vigorous recreation
It g nrert R & deg B fage
(a) T fefamrs gRzg fog ) #e-Hafsan fg
(c) Rt fithmr fég (d) yYI® Hauso=t f¥g
Hepatitis is an infection of the ’
(2) stomach (b) liver
(¢) duodenum (d) kidney
&3 Aaanz 3 :
(a) UTwr ) fmw
(€) & nizdter () TR

Good muscle tone is highly related to good

(a) Reflex time (b) Movement time

(¢) Transmission time (d% Reaction time

(a) yfSfafonr as s o) THawas

(c) FO9s % 5% @ yfsaHas a5

Name the game which involves little ‘large muscle activity’.

(a) Shooting ~ (b) Taekwondo

(©) Chess (d) Archery

U3 o 5N I firm g ‘mfaR HRLER Tt W mms Y
(@) fomdgrit b) IS

(c) =399 - (d) Sroiens

Virtually, physical education is an active form of

(a) - Exercise (b) Aecrobics

(c) Sport (d) Recreation

AdtaR fiffimr fext gu 3

(@) FTFEI T _ () mdfaan o

(c) 3w (d Wadaser

The Indian Olympic Association was formed in

(a 1927 (b) 1952

() 1937 (d) 1947

T35t @sfle s o fsaure ST famr 1t

(a) 19271 ®) 1952f%

() 1937f¥%g @ 1947 &
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89,

91.

92.

93.

94.

9s.

The human heart is about t'hc size of a/an

(a) Average size apple (b) Hen’segg

(c¢) Man’s closed fist (d) Bigalmond

Mot fows sasdl fere v & ger 9 :

(a) & ¥Rz nid@g A (b) v T E

(c) nmet & de Hat () fea W EEH

The quality of life is directly related to

(a) The state of one’s health (b) .~ One’s nutritional status

(¢) Individual’smind set (d)  Fulfillment of needs

Hres oF g3 Y3y gu &S HEU J ¢ .

(@) T fonet & fivos & Alet a5 (b) o feniadt @ Umfeasr ¥ w0 815

(c) fornast & fegguar &5 @ &3 & RIS A |

Name the component of physical fitness that is, more or less, genetically determined.

(a) Flexibility : (b) Speed .

(c) Strength .. W Body composition -

mn@mém?mﬁﬁwﬁn@éﬂa@mﬁﬁm@%

(a) &K | (b)

() o5 (d) F9x EEST

There is no muscle contraction during . -

(a) Isotonic workouts - (b) Ballistic exercises _

(c) Isometric exercises (d) Isokinetic bursts

o 395 HAUE T Begs st ger Y -

(a) wEtReTsx IRt (b) TfeERfex RISt I

(c) wETfed IR ' (d wrEHaEIdfea @

Which of the following don’t constitute aerobics ? '

(a) Rhythmic exercises (b) Cycling

(c) Calisthenics - (d) ﬂYogic practices

(@) IBYISIATS (b) FERGA

() TS TAIS @ s fgniR

Phﬂosophy of physical education is said to be

(a) Elective () Eclectic-

(c) Selective (d) Imperative

Ftea fiffemr & femmet 3 - | :

(a) v | . ) fegerfos

(c) <& (d) wif3-nrera

The effect of sports and training varies with the

(a) Weather and season- ' (b) Stage of maturation

(¢) Peoples and places (d) Child’s educability

st 3 faverst o yge ufgeafss der 9 | ‘

(a) TEIY M3 HAH &S (b) ufeuasT e Uug

(c) BA N3 FES 5B | (@ B = fafnr Gas & |
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96. A person’s posture is most influenced by his

(8) Movement habits (b) Home environment
(c) Lifestyle -(d) Nutritional status
@aﬁmﬁémwmﬁmwjﬁaw
(@) fImz gws o wegt 3 ®) WP HIS T
(c) s iH3 @) UmEFtueF
97. What holds key position for weight control ?
(a) Recreational sport (b)  Physical activity
-(¢) Dieting (d) Eating habits
379 f5uz9% &g oo s yus 3 )
(a) HOUTTRY BF (b) FIEA fafanr
(©) YR HAM (d) uZ nrest
98. How many times do our kidneys filter blood in the body each hour ?
(@ Once - (b) Twice
(¢) Thrice ‘ (d) Four times
A3 goe AAY 9 9o § 99 W2 ffet o ued gs 7
(a fexesg () @¥=w
© Bseg @ w9Em
99. Rabbis is an active highly fatal infection of the
(a) cerebrum (b) -autonomic nervous system
(c) spinal cord - {d) central nervous system
Jelw 2 53 w3 Haawz
(@ fomw () AR 9953 &F Yy
() dddHe (d) I IAYETe
100. Physical exercise done in the presence of oxygen is called
(a) Aerobic (b) Anaerobic
(¢) Isometric ‘ (d) Isokinetic
Vs & 3T 9 dtt e =t dteg sas JTgEt I
(a) fARHat aras : (b). rienefx
(©) netRiefax | (@) oretRafEdfe
101. There is a possibility for a AIDS’s patient to live for a few
(a) hours (b) days
(¢) months (d) years
e 23w 1t et 8z  Haree Fet D s
(@) uiR (b) fos
(c) HI3 (@ A
102. The length of trachea (windpipe) in an adult person is about
(@A 20cm ' _ (b) 15cm
(c) 10cm (@d Sem
féam%mfé’amamﬂﬁﬁwﬁﬁzﬂ‘%m
(a 20cm , ®) 15cm
(¢) 10cm (d Scm
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103.

lM.

108

106.

107.

108,

109.

The number of muscle-pmrs, found in the human body is

(a) 200 (b) 250

(c) (d 350

HEut H?ﬂ'd frg w® W HEFo R A & Tt 3

(a) 200 ®b) 250

() 300 | d 350

Which of the following are involved i in injurics called “sprains” ?

(a) Bones Tendons

(c) Ligaments (d) Blood vessels

‘o' qoSe et Ae fe st fefant g ot miks Jer 9

(a) ISt b) U3

(c) w33 (d) Y5 St It

In India, the school health services started in -

(a) 1949 1909

() 1962 (d) 1968
gr33 9 Fge fros At & ggnrs st ot A

(@) 1949 fow (b) 1909 9

(© 1962 (d) 1968 3w

The contractile elemernits of the muscl&s fibers are called

(a) Spindles .
(©) Myoﬁlaments
HAUR & fimit

(a) AiUsS
(©) HfE@‘fEE"h'Z

(b)

Myofibrils

(d) Contractile proteins

%ﬁafes'nmaaf@%aa
(d az%azre’lﬁqaa

Which of the following kind of training is considered excellent for bringing about body ‘_

conditioning ?
(a) Interval training
(c) Weight training

)
Y

Circuit training

High altitude training

mmmmwwﬁvmwamﬁ FOE3H i@t At 3 7
(a) i3 st b) oRES fncred
(¢ 39 frumret @ Sort ‘3 et
Dislocations occur most commonly in such Sport as
- (a) Cycling (b) Diving.
(c) Archery (d) Gymnastics
I8t o ferunss nifadimt ast e msd W &
. (@) P () FERT
(c) i . @) foemrfe
Complex carbohydrates are not found in
(a) Frults _ (b). Rice
q{lzg | (d) Breads
Jfew argaoEtae fon e &t fime
(a) &3 (b) IS
() uAT @ ¥ |
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110. The saddle joint in the human body is in the _
(@) Toe of the foot ~ (b) Little finger Cay
(c) Wrist , (d) Thumb
Haut Fate fRg Tt g 3
(2) BT w3 U9 ®) <& Gah
(c) @&t ' @ nigs

111. Hyperextension occurs when the extension is beyond
(a) 60 degree - (b) 90 degree
(c) 120 degree o (d) 180 degree
e yre e I yra Y , |
(@) 6033t 3 urg ' () 90 fzaet 3 urg
(©) 120f5a=t Fug (d) - 180 fZ3rt T ug

112, Newton’s laws of motion better exemplify |
(a) Kinetics (b) Kinematics
(¢) Kinesthetic (d) Kinesis
f5@<s e ot o fosmn firgz9 Qerges U a9 3 |
(a) St fefarnrs . (b) st Ak
(c) fodrmifex &t (d) fodfam &

113. Name the types of muscles which contract when the body is in motion.
(@) Neutralizers (b) Antagonists
(c) Stabilizers (d) Agonists
wnﬁﬁwé@nfamwa#ﬁﬁaﬁnﬁﬁ#maﬁﬁaﬁvéaiémsﬂ@w
(a) foguy (b) feId :
(c) RiET qT& TEMr (d) wHafax .

- 114. In terms of biomechanics, gravity is what causes our
(a) Weight (b) Stability
(c) Equilibrium (d) Volume
e Hafsan @ meet f¥9 midans madt BIdd Ay
(8 FITITI5Y (b) AT T ads D
: (© FA3TETI95 Y (d) »rfEsse ags I

115. The class one lever is built for : '
(a) Speed (b) Equilibrium
(c) Strength (d) Range of motion
R3-fex wteg sarfinr famr D A
(a) T == , - (b) H3ES T
() 3%t (d) I3 fergg oot

116. If the tennis stroke is a “cut” or a chop, the ball will
(a) Drop : (b) Bounce
(¢) Spin (d)  Rebound
e AT ‘S’ & ‘T D, w |
(@) it (b) =3t
(0 unat (d) Byt
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- 1.

118.

119,

120.

121.

122,

123.

Lordosis can be found in

(a) Infants and children (b) Adult men and women
(¢) Old people (d) All age groups
BISHR uwfenr A AAET T
(a) T N dfonr &9 (b) TEI et w3 WiT3T T
() SER3FTRT (@ T FHai & :
The running at slow speed, the contact of the foot used is
(a) Partial . (b) Complete
(c¢) Absent " (d) Undetermined
thit gt '3 938 '3 To3 oo U9 © Agos B
(a) YR 3 b) A3
() =3 (d) nriferfe3
Most muscles that move the hip joint originate from the
(a) Abdomen (b) Spinal column
(c) Sacrum ~ (d) Pelvis
frmrerss wRdEt 7 3 g8 ® 73 § fo8dmt T, By Joi O
(@) Uz % (b) =& IS amH T
(©) Uz @ fugd yr S 3 (d) Usfer &g
Our hands generally get contaminated with
(a) bacteria (b) soil and dirt
(c) greaseandoil . (d) chemicals
AS Ja wH39 3 eIz I A 05 |
(a) XSS 55 (b i »i3 diedt v
(c) THAMIISFTS (d) IAfest &%
Another name effleurage massage is
(a) Pressurizing " (b) Bunting
c) Slicing (d) Stroking
HA € J9 &H 3 _
(@ YErEttiar ) e
(c) FHETAI (d) refda
Technically speaking, friction is similar to
‘(a) Hacking ~(b) Rolling
(c) Strokin (d) Thumbing
I 99, Ja13 AHG &
(@) FWmH2 ®) fags?
(c) wrz® (d) TaInme
Flexion takes place around :
(a) ball & socket joint (b) synovial joint
%c) - hinge é‘oint (d) gliding joint
dgor e _
(a) TS W3 AT 7T TS (b) T3S 73 s
(c) fIm vz o (d) ST Oz oS
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124,

128.

126.

127,

. 128,

129.

130.

Bile is stored in _ _
(a) spleen (b) kidney :
(c) - skin (d) gallbladder -
TES AT g I | -~
@ R | ®) TR R
() o @ fiRfw
Which of the following eatables are enemies of teeth ?
(a) Bakery products - (b) Nuts & fruits
(c) Bony meat ' (d) Chewing gums & chocolates -
- Jot fefant R9° fxo3 u-mar uTTgy Tt @ THNE I5
(a) T yo9g b) PR3 EH
(¢ THaw iz ‘ - (d) <RI nR TaBet
A forward upwards movement of the foot at the ankle joint is
(a) Planter fiexion (b} Dorsi flexion
c) Inverslon (d) Eversion
2 fife 2 73 '3 nRIE-Bus &3 Joa3 B ,
(a) anrgead 29 b fizde
) =& @ useE
For strength dommatmg sported, the diet should be rich in
(a) carbohydrates (b) vitamins
(¢) minerals . (d) protein
5 yos 38t 9, #ns Fauq I gdter 9
@ FETERe e ) feeis ¥
(© wemRe . . @) URafe -
In case of sprain the 1mmedlate treatment recommended is
(a) hydrotherapy ~ (b) cryotherapy
© heat-therapy d None of the above
HE © o%'3 &8, frerfen dfts Afer 393 fesm 3
(a) At () FieGEnd
(¢ 3V fefazAr (@) 8udas aet adt
The term dead ball is used in
. (a) handball (b) tennis
(c) table tennis ' (d) cricket
AEE ‘38 % 9w Ao 3 B
(a) 39w & ) Hferfg
(c) 2= fsn g @ fEefs
Who among the followmg declare the Olympic Games closed ?
-
(c ¢ Minister of the Coun
5t fefanit AT° Sz Bfim O3t &t mma(’r o WFET J9er I
(a) IOC & Snfais (b) Ioce 8z
(© 10Ce Aa39 @ =F T ygsHsdt
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131,

132.

133.

134'

135.

136.

137.

In which year were the Ancient Olympic Games banned ?

(a) 396AD (b) 394AD
© 296 AD (d 334AD
Uosa 8sfua 33t 3 waéf fom s 9 dait A
(a) 396AD (b) 394AD
(©) 296AD _ (d) 334A. D
The word ‘Athlete’ ori_ginatéd in ,
(@) Rome (b) Greece
(¢) China (d) India
wEste Fae o g3ust ae”r A

(@ WRe ®) e
() dTxfw @ EACEMES]
In which Olympics did women participate for the first time ?
(a) 1896 Athens {b) 1900 Paris
(¢) 1920 Antwerp (d) none of the above

faanr G8fux U3 ﬁa wigst & ufodt g g for HE
(a) 1896 TE&H () 1900 BfgR
(c) 1920 Wy (@ SWEsaE s
Height of the Volleyball net for women is |
(a) 2.2l mts (b) 2.22mts
(c) 225mts (d) 2.26mts
i w8 e X2 & @aTé’r J:
(a) 2.21 mts o (b) 2.22mts
(¢) 225mts (d) 2.26mts
Itﬁav;elghthﬁmg competition the increase in weight between two attempts must not be less
(@) 2.5kg ®) Ske
(©) 10kg (@ 2kg Ly
méasqmmf@aemﬁwamﬁawmmﬁW'w?%
(@ 25kg (b) S5kg
() 10kg * (@ 2kg
To take penalty stroke in Hockey, any skill can be used except
(a) push (b) flick
(c) hit E
I%Fﬁftnzaaﬁasér ﬁnaaséhﬁésaﬁa?wﬂ?wma

(a) a o3 (b)y ST

() WIFe @ W

‘Roverse Cup’ is associated w1th the game of
(a) Football (b) Volleyball
(c) Hockey - ) (d) Kabaddi
“Iegr U’ TeR B &% AdU3 3
(a) TIB o (b)) THES
(c) Tt . (@) =St |
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138.

Which of the following Universities won the MAKA Trophy for the maximum number of
times ? st

(a) Punjab University - (b) Delhi University

(c} Guru Nanak Dev University (d) Calicut University
Wﬁm%wm&waﬁma‘eﬂmﬁﬁ%

( Unrg géteathdt ®) fort et
(c) TP 55x o7 GatearRSt (@ THIe FAteahd
139. How many times has India won the Hockey gold medal in Olymplcs ?
(a) 7 times ~ (b) 8times
(c) 6times (d) 9 times
m%@sﬁm%ﬁaaﬁrmﬂmfaﬁmﬁﬁmi
(a 7¥9 (b) 8%9
(c) 679 d) 9=3
140. Which country won the final of ICC World Cup 2015 ?
(a) Australia (b) England
(c) India - (d) New Zealand
ICCI"EHEHUZOISfaH@H%ﬁ-T%W , |
(a) rREMr ) fEaRs
) I3 @ fgARs
141. In Volleyball, the distance of the attack line from centre line is
(a2) one meter (b) two meters
(c) three meters (d) five meters
TS 39 vida 3w FF o9 % Tt 3
(@ iz : (b) ©iem’
O REGR ] (d) Uares
142. Shortest training cycle in a sportsis knownas
(a) micro cycle (b) macro cycle
(c) meso cycle (d) None of the above
fex 93 %9 m3 3 3o 2ffar a9 T 3
(@ BuH Jag . ) fermdae
(c) HF da9 (@) Suda3 &t &gt
143. In which game pressure training method was first used ?
(a) Hockey , (b) Football
(¢©) Vollybali (d) Basketball
S ﬁmmﬁﬁﬁmwﬁnﬁsﬁeqﬁmaﬁraﬁﬁr
s (a) ol - (b zTEH
e - (e) TEHTH (d) THATEH
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144.

145.

146.

147.

148.

149.

150.

Which of the following is animal fat ?

(a) Egg (b) Almond
(c) Meat (d) Milk
(a) s : (b) TEH
© He @ T
The major function of insulinisto.
(2) transport food stuff (b) keep blood thin

. () _ regulate blood sugar (d) convert glucose into glycogen
foardts ey &K 9 '
(@) 35 YTIE T TTS TS (b) Y53 usH T
(c) o83 5 § fouizds a9 @) IsaA g Feafie e ufaeess a3
Sports top form depends on o ' _ :
(a) training (b) psychological limits
(c) diet : (d) equipments
v3 & 85 groH fagee &eet 3 ¢ :
() 2f&a'3 : (b) wafefamrss Fvet '3
(c) »II'3 () AwWAHE3
Which factors affect pace of recovery ? '
(a) Nature of load (b) Health and physical fitness
(c) Sleep : (d) All of the above ‘
e o ot § fo3 S YFE S T '
(2) oI & yfeast () Aoz »3 Adtea feedr
(c) &te (@) 8udas A '
“The factor which is not considered as a component of training load is
(a) intensity (b) volume
(c) density (d) diet
¥3 fram & frusmet 3 & AT &t Hifesnr wer 3

(a) Ftaer - () rfess
(c) wE3r | (d) g
In most cases of Obesity, is the reason of :
(a) eating junk food (b) doing no-exercise
(c) _ nibbling between meals (d) excessive eating
Yz 2 frmrerss ant g, a9z 9 |
(a) 7 TF YT S (b) THIS & IS
(c) Svo fegars uie gfaar (d) TguE
The disease called conjunctivitis is a disease of the
(a) lungs (b) eye
© leen _ (d) = trachea

: aga&%fan FIRT T JA I ¢
(@) Jufit e () wheit e
(© fzdte . @ moFdter
| 23 Paper-I (Physical l-:dqeigio-;) .
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